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QUESTION 1

Which of the following account for most of the failures in a system?
A. They will be found in the smallest modules

B. They will be evenly distributed among all modules

C. They will be found in the largest modules

D. They will be found in a small proportion of modules

Correct Answer: D

QUESTION 2
Which of the following are structure-based techniques?

a) Decision table testing b) Boundary value analysis c) Multiple condition coverage d) Use case testing e) Decision
testing

A.aandc.
B. b and d.
C.bande.
D.cande.

Correct Answer: D

QUESTION 3
Given the following sample of pseudo code:

01 Input number of male rabbits 02 Input number of female rabbits 03 If male rabbits > 0 and female rabbits > 0 then 04
Input Do you want to breed (Yes / No) 05 If breed = 0?05 If breed = ?0 06 Print deep male and female rabbits apart!?06

Print deep male and female rabbits apart! 07 End if 08 End If.

Which of the following test cases will ensure that statement ?6?is executed?

A. male rabbits = 1, female rabbits = 1, breed = Yes male rabbits = 1, female rabbits = 1, breed = Yes?
B. male rabbits = 1, female rabbits = 1, breed = No male rabbits = 1, female rabbits = 1, breed = No?
C. male rabbits = 1, female rabbits = 2, breed = Yes male rabbits = 1, female rabbits = 2, breed = Yes?

D. male rabbits = 1, female rabbits = 0, breed = No male rabbits = 1, female rabbits = 0, breed = No?
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Correct Answer: B

QUESTION 4

Which of the following is MOST likely to be an objective of a pilot project to introduce a test tool?
A. To assess if the test tool brings benefits at reasonable cost

B. To ensure that developers will use the test tool

C. To ensure that the time spent testing and the cost of testing is reduced

D. To assess if everyone in the organisation can be trained prior to roll-out

Correct Answer: A

QUESTION 5

Which of the following activities would improve how a tool is deployed within an organisation?
a) Roll out the tool across the organisation as quickly as possible to all users.
b) Conduct periodic lessons learnt reviews with tool users.

¢) Provide technical support to the test team for each type of tool.

d) If a tool is not being used, withdraw it and look for an alternative.

e) Make sure processes are improved to reflect a new tool.

A.a,bandc

B.a,candd

C.c,dande

D.b,cande

Correct Answer: D
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